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9,800 — 7,840

10,000M — 8,000
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9,300 — 7,440M

9,500m - 7,600M
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5,800 — 4,640M

6,000 — 4,800M
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9,800 — 7,840

10,000M — 8,000
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4,800 — 3,840M

5,000 — 4,000
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5,800 — 4,640M

6,000 — 4,800M
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5,800 — 4,640M

6,000 — 4,800M
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6,800M — 5,440M

7,000m - 5,600H
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4,800 — 3,840M

5,000 — 4,000
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6,800M — 5,440M

7,000m - 5,600M
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4,500 — 3,600M

4,7001 - 3,760M

3,300 — 2,640H

3,500M — 2,800M

1,300 — 1,040

1,500 — 1,200

3,200M — 2,560M

3,400M — 2,720H

1,300 — 1,040

1,500 — 1,200

2,900 — 2,320H

3,100M — 2,480M

1,300 — 1,040

1,500 — 1,200

2,800 — 2,240H

3,000m — 2,400M

1,300 — 1,040

1,500 — 1,200

2,500M1 — 2,000

2,400M — 1,920M

2,500M — 2,000H

2,700M — 2,160M

1,300 — 1,040

1,500 — 1,200

2,400M — 1,920M

2,000m - 1,600M

2,200M - 1,760H

1,000 — 800H]

1,200 — 960H]

1,700 - 1,360

1,800 — 1,440MH

2,000m - 1,600M
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7001 — 560M

900M — 720M
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3,300 — 2,640H

3,500M — 2,800M
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1,800 — 1,440

2,000m - 1,600M
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11,000M — 8,800
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11,000M — 8,800
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